

GOVERNMENT OF INDIA MINISTRY OF CONSUMER AFFAIRS, FOOD AND PUBLIC DISTRIBUTION RAJYA SABHA QUESTION NO 374 ANSWERED ON 13.08,2012

Demand of States

374 SHRI THAWAR CHAND GAHLOT

Will the Minister of CONSUMER AFFAIRS, FOOD AND PUBLIC DISTRIBUTION be pleased to state:-

- (a) the States that have demanded wheat, rice, sugar, oil etc. from Government for their BPL families during the last three years, the number of such families in each State and the details of the amount of each of the above mentioned items demanded, State-wise and year-wise;
- (b) the details of the quantum of food items provided by Government, year-wise and State-wise; and
- (c) whether some States are implementing the schemes under which they provide wheat at the rate of two rupees per kilo and rice at the rate of three rupees per kilo to poor families for which they have made additional demands of wheat and rice from the centre?

ANSWER

MINISTER OF STATE (INDEPENDENT CHARGE) FOR CONSUMER AFFAIRS, FOOD & PUBLIC DISTRIBUTION (PROF. K.V. THOMAS)

(a) to (c): The commodity-wise details are as under:

FOODGRAINS:

Under the Targeted Public Distribution System (TPDS), allocation of foodgrains to States/Union Territories (UTs) is made on the basis of 1993-94 poverty estimates of Planning Commission and March 2000 population estimates of Registrar General of India. As per these estimates, Government is making allocation of foodgrains for all accepted number of 6.52 crore Below Poverty Line (BPL) families, including 2.43 crore Antyodaya Anna Yojana (AAY) families in the country @ 35 kg. per family per month. The allocation of foodgrains (wheat and rice) are made to the BPL and AAY families at the following Central Issue Prices (CIP):

(Rupees per kilogram)

Commodity		
•	BPL	AAY
Rice	5.65	3.00
Wheat	4.15	2.00

The state-wise details of the accepted number of BPL families & allocation of foodgrains made during the last 3 three years are at Annexure I, II & III.

Requests have been received from States/UTs for higher allocation for BPL families. Considering the availability of surplus stocks in the Central Pool and the requests received from the States/UTs for higher allocation. Government has been making additional allocation of foodgrains over and above the normal allocation under Targeted Public Distribution System (TPDS) to the BPL families from time to time as per details given in the Annexure II & III. LEVY SUGAR: In February, 2001, the Central Government, in a move toward better targeting of Public Distribution System (PDS), has restricted the supply of levy sugar under the PDS to Below Poverty Line (BPL) families except in the North Eastern States, Hill States and Island Territories where universal coverage was allowed to continue. The allocation of levy sugar is made by the Central Government to the State Governments/Union Territory Administrations as per their fixed monthly levy sugar quota. A statement showing details of total No. of projected BPL households as on 1.3.2000, average size of BPL households as per 1991 census, total BPL population, sugar distribution norms per person per month and monthly levy sugar requirement in respect of State Governments/Union Territories Administrations and the allocation of levy sugar during 2008-09, 2009-10 and current 2010-2011 sugar seasons (October-September) are as per Annex-IV-V.

VANASPATI OIL: In order to provide relief to consumers especially BPL households, since 2008, a scheme for distribution of subsidized imported edible oils through States/UTs has been implemented by Government for distribution of edible oils to ration card holders with a Central subsidy of Rs. 15/- per kg. The scheme was extended in 2009-10, 2010-11 and 2011-12 (upto 30.9.2012). The State Governments/UTs are allocated edible oils as per their demand. Statewise details of the edible oils allocated during the last three years are as per Annex-VI.

(In lakhs)

S. No.	STATE/UT	No. of BPL Households in 2000
1	Andhra Pradesh	40.63
2	Arunachal Pradesh	0.99
3	Assam	18.36
4	Bihar	65.23
5	Chhattisgarh	18.75
6	Delhi	4.09
7	Goa	0.48
8	Gujarat	21.20
9	Haryana	7.89
10	Himachal Pradesh	5.14
11	Jammu & Kashmir	7.36
12	Jharkhand	23.94
13	Karnataka	31.29
14	Kerala	15.54
15	Madhya Pradesh	41.25
16	Maharashtra	65.34
17	Manipur	1.66
18	Meghalaya	1.83
19	Mizoram	0.68
20	Nagaland	1.24
21	Odisha	32.98
22	Punjab	4.68
23	Rajasthan	24.31
24	Sikkim	0.43
25	Tamilnadu	48.63
26	Tripura	2.95
27	Uttar Pradesh	106.79
28	Uttarakhand	4.98
29	West Bengal	51.79
30	A&N Islands	0.28
31	Chandigarh	0.23
32	D&N Haveli	0.18
33	Daman & Diu	0.04
34	Lakshadweep	0.03
35	Puducherry	0.84
TOTA	L	652.03

ALLOCATION OF FOODGRAINS (RICE & WHEAT) MADE FOR BPL (including AAY) CATEGORY FOR THE LAST THREE YEARS (2009-2010 to 2011-12) UNDER TPDS

(In 000 TONS)

S.No.	State/UT	2009-10	2010-11	2011-12
1	ANDHRA PRADESH	1706.376	1706.376	1706.376
2	ARUNANCHAL PD	41.496	41.496	41.496
3	ASSAM	770.916	770.916	770.916
4	BIHAR	2739.792	2739.792	2739.792
5	CHHATISGARH	787.632	787.632	787.632
6	DELHI	171.780	171.780	171.780
7	GOA	11.568	11.568	11.640
8	GUJRAT	822.048	890.448	890.448
9	HARYANA	331.392	331.392	331.392
10	HIMACHAL PD	215.880	215.880	215.880
11	JAMMU & KASHMIR	309.084	309.084	309.084
12	JHARKHAND	1005.492	1005.492	1005.492
13	KARNATAKA	1314.276	1314.276	1314.276
14	KERALA	652.608	652.608	652.608
15	MADHYA PRADESH	1732.476	1732.476	1732.476
16	MAHARASHTRA	2744.304	2744.304	2744.304
17	MANIPUR	69.732	69.732	69.732
18	MEGHALAYA	76.860	76.860	76.860
19	MIZORAM	28.560	28.560	28.560
20	NAGALAND	52.080	52.080	52.080
21	ORISSA	1696.692	1696.692	1696.692
22	PUNJAB	196.536	196.536	196.536
23	RAJASTHAN	1021.020	1021.020	1021.020
24	SIKKIM	18.240	18.240	18.240
25	TAMILNADU	2042.376	2042.376	2042.376
26	TRIPURA	123.900	123.900	123.900
27	UTTAR PRADESH	4485.180	4485.180	4485.180
28	UTTRAKHAND	209.172	209.172	209.172
29	WEST BENGAL	2175.264	2175.264	2175.264
30	A&N ISLANDS	6.915	7.140	7.140
31	CHANDIGARH	4.196	4.380	4.380
32	D&N HAVELI	6.720	7.224	7.224
33	DAMEN& DIU	1.680	1.680	1.680
34	LAKSHADWEEP	1.254	1.260	1.260
35	PONDICHERRY	35.112	35.112	35.112
	TOTAL	27608.609	27677.928	27678.000

STATEMENT SHOWING ALLOCATION OF FOODGRAINS OF SPECIAL/ADHOC ADDITIONAL ALLOCATIONS MADE DURING 2009-10, 2010-11 AND 2011-12 UNDER TPDS (in thousand tons)

	(in thousand tons 2009-10 2010-11 2011-12						
		2009-10			2011-12		
		Date of Allocation	Allocation made on	BPL Allocation	BPL allocation made on	BPL/AAY Allocation	
0.11	OT 4 TEO#14	January 2010 @ MSP	19.5.2010 @ Rs	made on	16.5.2011 @ BPL Issue Prices	made from July 2011 to	
S.No.	STATES/Uts	based/derived prices for	8.45/kg & 11.85/kg	7.9.2010 and		February 2012 to	
		distribution to families	for distribution to	6.1.2011 @ BPL		Poorest Districts	
		including BPL families	families including	Issue Prices			
			BPL families				
1	ANDHRA PRADESH	316.420	268.957	511.570	311.570	116.797	
2	ARUNACHAL PRADESH	4.840	4.114	12.592	7.592	0.737	
3	ASSAM	89.860	196.381	290.794	220.794	15.34	
4	BIHAR	237.580	201.943	500.214	600.214	596.511	
5	CHHATTISGARH	88.220	149.974	143.784	143.784	131.952	
6	DELHI	55.640	47.294	31.364	31.364	0	
7	GOA	6.400	5.440	3.680	3.680	0	
8	GUJARAT	175.140	148.869	162.572	162.572	51.502	
9	HARYANA	62.960	53.516	60.504	60.504	9.739	
10	HIMACHAL PRADESH	25.140	21.369	39.416	39.416	11.537	
11	J&K	36.040	30.634	56.440	56.440	11.757	
12	JHARKHAND	87.120	74.052	183.584	183.584	132.229	
13	KARNATAKA	188.740	160.429	239.946	239.946	31.395	
14	KERALA	122.200	153.870	125.653	119.168	5.068	
15	MADHYA PRADESH	194.060	164.951	516.324	316.324	278.044	
16	MAHARASHTRA	354.540	301.359	501.060	501.060	105.812	
17	MANIPUR	8.140	6.919	17.730	12.730	1.215	
18	MEGHALAYA	8.980	7.633	19.034	14.033	1.719	
19	MIZORAM	3.340	5.678	10.214	10.214	0.159	
20	NAGALAND	6.040	10.268	14.510	19.510	0.315	
21	ORISSA	135.820	115.447	252.906	252.906	143.933	
22	PUNJAB	79.520	67.592	35.888	35.888	1.839	
23	RAJASTHAN	177.340	301.478	236.420	186.420	99.054	
24	SIKKIM	2.100	2.285	4.498	10.778	0.264	
25	TAMILNADU	277.640	235.994	372.918	372.918	40.948	
26	TRIPURA	14.440	12.274	22.622	22.622	2.734	
27	UTTAR PRADESH	522.830	444.406	818.880	818.880	316.724	
28	UTTARAKHAND	24.380	20.723	38.188	38.188	2.602	
29	WEST BENGAL	290.460	246.891	397.152	397.152	259.315	
30	A&N ISLANDS	1.620	1.377	2.146	2.146	0	
31	CHANDIGARH	4.060	3.451	1.764	1.764	0	
32	D&N HAVELI	0.720	0.612	1.382	1.382	0	
33	DAMAN & DIU	0.510	0	0.268	0.268	0	
34	LAKSHADWEEP	0.220	0.187	0.230	0.230	0	
35	PONDICHERRY	4.480	3.808	6.442	6.442	0	
	GRAND TOTAL	3607.540	3066.410 #	5000.004 #	5000.004#	2369.241	

[#] The total in certain cases may not add upto the Grand total shown of allocation made to the States due to reallocation made from the unlifted savings within the overall allocations.

STATEMENT SHOWING THE DETAILS OF STATEWISE LEVY SUGAR ALLOCATED UNDER THE PUBLIC DISTRIBUTION SYSTEM (PDS) DURING THE SUGAR SEASON 2008-2009, 2009-10 and 2010-11.

(Qty. in '000' Tonnes)

SI. No. State/UTs			0000 40	004044
		2008-09	2009-10	2010-11
1 Andhra Prade		132.48	124.37	124.37
2 Arunachal Pra	adesh	11.29	10.29	10.27
3 Assam		233.26	224.38	224.52
4 Bihar		97.58	165	251.07
5 Chhattisgarh		59.92	55.26	56.28
6 Delhi		37.76	37.16	37.16
7 Goa		2.48	1.58	1.58
8 Gujarat		79.66	75.44	75.98
9 Haryana		33.64	32.08	32.06
10 Himachal Pra	desh	59.62	57.07	57.08
11 Jammu & Kas	shmir	91.57	88.04	87.8
12 Jharkhand		4.9	84.87	86.27
13 Karnataka		115.89	109.66	109.7
14 Kerala		53.02	52.92	52.92
15 Madhya Prad	esh	161.13	155.8	155.83
16 Maharashtra		189.45	176.37	176.43
17 Manipur		22.73	21.88	21.93
18 Meghalaya		21.76	20.96	20.96
19 Mizoram		8.65	8.35	8.24
20 Nagaland		15.14	14.64	14.64
21 Orissa		111.42	108.52	108.58
22 Punjab		21.7	20.87	20.86
23 Rajasthan		99.3	94.54	94.61
24 Sikkim		4.91	4.7	4.76
25 Tamil Nadu		146.44	140.14	133.37
26 Tripura		34.38	32.88	32.86
27 Uttar Pradesh	ı	433.35	412.2	412.48
28 Uttarakhand		75.78	73.38	73.49
29 West Bengal		188.43	178.58	178.84
30 A & N Island		4.74	4.77	4.74
31 Chandigarh		0.93	0.91	0.88
32 Dadar & Naga	ar Haveli	0.63	0.6	0.6
33 Daman & Due		0.13	0.12	0.12
34 Lakshadweep		1.34	1.32	1.34
35 Pondicherry		2.32	2.12	2.08
TOTAL :-		2557.73	2591.77	2674.7

Note:

- 1. Sugar season is reckoned from October to September.
- 2. Special Festival Quota was allocated to the State Govts./UTs during 2008-09 only.

STATEMENT SHOWING Monthly levy sugar quota for Other States/UTs & Special Category States/Hill State/Island Territories (w.e.f 1.2.2001)

S. No.	State/UTs.	Total No. of	Average size of	Total BPL	Sugar	Monthly		
B. 110.	State, C.15.	projected BPL	BPL households	population	distribution	levy		
		households as	as per 1991	(in lakhs)	norms (gms	requirement		
		on 1.3.2000 (in	census (in lakhs)	(======================================	per person	(in MTs)		
		lakhs)	(/		per month)	()		
States/U	States/UTs other than Special Category States/Hill State/Island Territories							
1	Andhra Pradesh	40.63	4.77	193.81	500	9690		
2	Bihar	66.61	6.16	410.32	500	20516		
3	Jharkhand	22.56	6.16	138.97	500	6948		
4	Chandigarh	0.23	4.38	1.01	611	62		
5	Dadra & Nagar Haveli	0.18	5.28	0.95	500	48		
6	Delhi	4.09	5.02	20.53	1271	2610		
7	Goa	0.48	4.99	2.40	500	120		
8	Gujarat	21.20	5.51	116.81	500	5841		
9	Haryana	7.89	6.30	49.71	500	2485		
10	Karnataka	31.29	5.52	172.72	500	8636		
11	Kerala	15.54	5.28	82.05	500	4103		
12	Madhya Pradesh	44.04	5.65	248.83	500	12441		
13	Chhattisgarh	15.97	5.65	90.23	500	4512		
14	Maharashtra	65.34	5.14	335.85	500	16792		
15	Odisha	32.98	5.28	174.13	500	8707		
16	Punjab	4.68	5.92	27.71	500	1385		
17	Rajasthan	24.31	6.04	146.83	500	7342		
18	Tamil Nadu	48.63	4.45	216.40	500	10820		
19	Uttar Pradesh	106.15	6.22	660.25	500	33013		
20	West Bengal	51.79	5.44	281.74	500	14087		
21	Daman & Diu	0.04	5.30	0.21	500	11		
22	Puducherry	0.84	4.97	4.17	583	243		
	Total	605.47		3375.63		170410		
Special	Category States/Hill State/Is	land Territories						
	State/UT	Total	Sugar	Monthly	*Projected po	pulation as on		
		population	distribution	levy	1.3.2000	has been		
		projected as on	norms (gms per	requirement	calculated on	the basis of		
		1.3.2000 (in	person per	(in MTs)	its 1991 cens	sus projection		
		lakhs)	month)			om MHA and		
1	Assam	261.96	700	18337		growth rate for		
2	Arunachal Pradesh	11.92	700	834	undivided UP			
	Andaman & Nicobar	3.86	1008	389				
3	Islands							
4	Himachal Pradesh	67.11	700	4698				
5	Jammu & Kashmir	99.45	700	6962				
6	Lakshadweep	0.71	1625	115				
7	Manipur	25.18	700	1763				
8	Meghalaya	24.34	700	1704				
9	Mizoram	9.52	700	666				
10	Nagaland	16.84	700	1179				
11	Sikkim	5.59	700	391				
12	Tripura	37.82	700	2647				
13	Uttarakhand*	86.19	700	6033				
	Total	650.49		45719				

STATEWISE ALLOCATION OF EDIBLE OILS UNDER THE PUBLIC DISTRIBUTION SYSTEM (PDS) DURING LAST THREE YEARS

(IN MTs)

				(11 1 171
Sl. No.	States/UTs	2009-10	2010-11	2011-12
1	ANDHRA PRADESH	166000	145250	345500
2	GOA	-	2570	3650
3	GUJARAT	-	18000	24000
4	HARYANA	9100	-	-
5	HIMACHAL PD	11060	10500	27000
6	KERALA	104	-	-
7	MAHARASHTRA	45000	90692	261740
8	MIZORAM	-	130	1300
9	ODISHA	-	15470	-
10	RAJASTHAN	-	10000	5000
11	TAMILNADU	74560	168000	303600
12	UTTAR PRADESH	20000	70000	8000
13	WEST BENGAL	40000	-	20000
14	CHANDIGARH	-	90	-
15	D&N HAVELI	-	210	360
16	DAMAN& DIU	-	93	-
17	LAKSHADWEEP	75	-	60
	TOTAL	365899	531005	1000210
